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5) Whengone halfjof a number is decreased by 13, the result is 62.

Find the number.

Let x= rumber
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X-26=2%

K =2e+26=124+26
%= 60

6) Six less thaz two thirds of a number is 18. Find the number.
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9) Find three consecutive even integers whose sum is 150.
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%o = 2
woof = lamgesd
%+ (e2)d (ee¥)= 15O
Bx+éb =150
Brib-bt= 1Se-6

10) Find four consecutive odd integers whose sum is 144.
Let e srmellest
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13) The length of a rectangle is 11 cm more than the width. The
perimeter is 90 cm. Find the length and width of the rectangle.

Le€xs widéh
sell = ltws‘h
Wi Ger 1)+ x4 Gosi)= G0
Y22 =90
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14) The width of a rectangle is 12 cm less than the length. The
perimeter is 120 cm. Find the length and width of the rectangle.

15) The perimeter of a rectangle is 232 cm and the width is 56 cm.

Find the length of the rectangle. >~
let w= khg“‘ 2
¥4 ¥e SeeSee 232 P=232m =
2

16) The perimeter of a rectangle is 340 cm and the length is 90 cm.
Find the width of the rectangle.
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Mixed Review
1) 3+y=2 2) x-12=6 3) y+6=15 4) 2y=6
5) -15=% 6{0%@ 7) 31=y-9 8) x-15=16
A=< 40
9) 0.25y=8 10) 3y+2=17 11) 2x-3=15  12) 3(a-1)+5=32
B lne




